
Wald vs. likelihood ratio tests
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Class activity

https://sta711-s23.github.io/class_activities/ca_lecture_27.html
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Take-aways:
· Under Ho, Wald and LRT are asymptotically equivalent as

n x

· For a fixed alternative, Wald [LRT are not asymptotically

equivalent

· For a local alternative,
Wald BLRT are asymptotically

equivalent



Asymptotic distribution of the Wald statistic
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Asymptotic normalityof the MLE:
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Test Ho: 8 =G. vs. HA:OFG.
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For a fixed alternative 8 =G +d, 2 =ndT,(0)d -

Local alternative:O = Go + i =>x =dTI,(0)d

For a local alternative, or when O=Do, Wald and LRT are

asymptotically equivalent



Equivalence of the Wald and LRT statistics
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For a local alternative, or when O=Do, Wald and LRT are

asymptotically equivalent

why? Consider ⑦ EIR

From lastclass: if =G. Leither Ho is the, ar F
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wald statistic when OER!

more generally,
2
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